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RE/B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2009,
Seventh Semester
Electrical and Electronics Engineering
EE 1401 — POWER svsmm OPERATION AND CONTROL
: (Regulation 2004) \
Time : Three hours . Macimiom : 100 marks
An s‘w.r.\r ALL questions. {

PART A — (10 % 2 = 20 marks)
1. What is the diflerence between load curve and lood wation eurve?
2. What is meant by system voltage contral?
3. Define stiffness of the interconnected system
4 Draw the dyvnuric response ol change in Ireqeney for a step load change.
Compare shunt and series capacitors.
6. Draw the root loci for zera compenszarcd o ops,
7. Define participation faclor.
8 What is meunt by priority Lsl methuo !
9.  What are the EMS functions?
10. What 1s emergency state?

PART D (5> 16 = 80 marks}

1l (a) . 1) - Disvuss the head funcﬁoms ol seeurity control, )
(i)  Dillerentise eod reserve rom hol reserve. 4)
(i1 Fxplain as term econamice dispateh confral (EDC). 41
Or

b)) A pencer g slation supplics the [bllowing louds
15000 Ky, 12000 KW, 8500 KW, 6000 KW and 450 KW,

The station has a maximum demand of 22(H0 KW. The annual loud
fairor of the station iz 48% Caleulate

Ll Lae pumber ol units supplied

(uy the diversity {actor |

(311) the demand factor. t : (161




12.

13

14

(a)

(b}

(a)

{b)

(a)

b}

Twi 1000 KW allernators operate in puiallcl. The speed regulation of
firsl ullernator is 100% to 103%. from full load to 1o load und that of other
100%: to 105%:. How will the two alternators share a load of 1200 KW and

.at what load will one machine cease to supply any portion of the load?(16)

Or
Draw the block diagram of two area load frequency conirol syslem and
explain the uncontrolled static analysis. {15)
(i)  Explain the transfer function of modeling of pxnter system with
neat diagram. (8]
{11} Diseuss the static and dynamic analysiz of AVR. (B)
: Or
i) What are the methods of voltage control? Explain anv twn methods
in detail (8)

(i} The loud ot the reeciving cnd of a three phaes ovorhead ling ia
225 MW, 0.8 lagging PF, at a line voltuge of 3% 27V, A synchronous
compensator is situated at the receiving end a1 d ©).e voltuge at both
enda of the line is maintained at 43 KV, Ca'cul.te the MVAR of the
eompensater, The line has 5 ohm resia. wice per phase and
20 ohm induclive reactunce per phage, (8)

Stute the unit commitment problem. With (he “clp of o [lowekart explain
forward dynamic programming snluhc + mechod of unit commitment
problem, (16

Or

(1] Develop an iterative algoriin » 1or solving the oplimum dispatch
equation of an "’ bus po=ev =vtem ta.kmg into account the eflects

of aystem losses. : (8}
(i) Construct the priority .st Jor the unitzs given below: 8}
Unit Heal rate Pmin Prmax Fual oot
(MBtu/ r, (M) MW (R</M Blu)
1 BN Tat Pys 150 GO 11
o0iez PP
3 S0 T Py~ 1430 405 10
n.o0zee PE
3 T8 4 7.07 Pa + a0 200 12
v.oodsz 17
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